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MASS COMMUNICATION AND JOURNALISM
Paper 11
Time Allowed : 15 Hours] [Maximum Marks : 100
Note — Attempt All questions, Each question carries fwo marks.
1. Headlines are given by :
(A) Page designer (B) Sub-editor
(C) Reporter (D) Page designer and reporter

2. Which media would be ideal to attract the attention of children to sell

chocolates to them ?
(A) Radio (B) Newspapers
(C) TV (advertisements) (D) Leaflets
3. The paper was developed for the mankind by :
(A) the Chinese (B) the Aryans

(C) the Mayans (D) the Sumerians
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4. The meaning of circulation in parlance of the print media :

(A) no. of copies printed (B) no. of copies sold

(C) mo. of editions (D) no. of Sunday editions
5. The medium that has widest reach in India :

(A) Internet (B) Television

(C) Radio (D) Print
6. The issue of monopoly press was debated extensively during Prime
Ministership of :
(A) Jawaharlal Nehru (B) Indira Gandhi
(C) H.D. Deve Gowda YD 1K Gujral

7. The acronym AFP stands for :

(A) Agence France Presse (B) American Foreign Press

(C) Associate Foreign Press (D) Associate France Press
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8. New Media have facilitated the type of communication which is :
(A) abstract * (B) conceptual
(C) interactive (D) public

9. Identify the correct chronological sequence of the following Ministers of

Information and Broadcasting Ministry, Govt. of India :

(A) Indira Gandhi, LK. Gujral, L.K. Advani, P.A. Sangma

(B) LK. Gujral, Indira Gandhi, L.K. Advani, P.A. Sangma

(C) L.K. Advani, LK. Gujral, Indira Gandhi, P.A. Sangma

(D) P.A. Sangma, 1.K. Gujral, Indira Gandhi, L.K., Advani

10.  Find the correct chronological sequence of the films of Raj Kapoor ;

(A) Barsaat, Aag, Awara, Sangam.

(B) Aag, Awara, Barsaat, Sangam

(C) Awara, Sangam, Barsaat, Aag

(D) Aag, Barsaat, Awara, Sangam
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11. Name Hindi News Agency of UNI :
(A) Samachar Bharti (B) Univarta
(C) Bhasha (D) Hindustan Samachar
12. Mass Communication gets filtered by which one of the following ?
(A) Media (B) Audience
(C) Encoders (D) Gatekeepers
13. ‘Searchlight’ was a paper published from :
(A) Uttrakhand (B) Bihar
(C) Punjab (D) Assam
14. The word ‘Journalist’ is derived from :
(A) Journology (B) Diurnalis

(C) Diurna (D) Journalography
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15. The reason for low levels of literacy among the rural women in India is :
(A) Lack of adequate communication tools
(B) Social taboos and beliefs of the rural masses
(C) Low spegd of spread of audio-visual tools of communication
(D) Shortage of schools in rural areas
16. In the south, the chief exponents of Bharat Natyam were :
(A)A Devadasis (B) Kings and their princes
(C) Local tribal groups (D) People of urban centres
17. ‘Kavadi’ folk-dance is devoted to :
(A) Lord Murya (B) Lord Ayappa
(C) Goddess Sita (D) Goddess Kali
18. A form of Indian folk-theatre, ‘Yakshagana’, the chief narrator is known as !
(A) Bhagavata (B). Sutradhar

(C) Konnagi (D) Songadya
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21.

23.

National Geographic TV channel is owned by :
(A) Star TV Group (B) Zee TV Group
(C) BBC (D) Ted Turner Group

Channel ESPN is owned by :

(A) Zee Telefilms Group (B) CNN Group

(C) Star Group (D) None of these

The Vernacular Press Act (1878) was also called : :

(A) Gagging Act (B) Lytton’s Act

(C) Full Control Law (D) Coercive Control Law

The first multilingual TV network of India was :

(A) ETV (B) ZEE

(C) Geminy (D) Jain

Time angle is important in :

(A) broadcast copy (B) magazine copy

(C) feature stories (D) non-news copy
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25.

217.

The term ‘Spin doctors’ is used in a negative sense to refer to :

(A) News reporters (B) Advertisers

(C) Legal Councils (D) PR Professionals

The New York Times has created the position of :

(A) News Controller (B) Public Editor

(C) Reader Editor (D) Ombudsman

Former President of India Dr. Rajendra Prasad was associated with :
(A) Satyagrah (B) Sentinel

(C) Leader (D) Searchlight

Who among the following has not been associated with parallel cinema in

India ?
(A) Shabana Azmi (B) Govind Nihalani
(C) Shyam Benegal (D) Prakash Mehra
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28. When Doordarshan started its operation in Delhi ?

(A) 1959 (B) 1932

(C) 1960 (D) 1968

29. Balgangadhar Tilak was associated with :

(A) Bombay Times (B) Indian Gazette

(C) Maratha (D) Hindu

30. The Directorate of Film Festivals (DFF) was setup under the Ministry of

Information and Broadcasting in the year :

(A) 1953 (B) 1968

(C) 1972 (D) 1973

31. The single-sheet advertisements printed on one-side are known as :

(A) Posters (B) Fliers

(C) Leaflets (D) Brochures
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32. A universal generalisation is the main feature of ... explanation.
(A) purposive (B) accidental
(C) inductive (D) deductive
33. To be a successful development reporter one should :
(A) Keep a desk diary
(B) Maintain a reference material
(C) Encourage mouthpiece writing
(D) Foster a wide range of contacts
34. The large proportion of the masses opinion is valuable in :
(A) a participatory society (B) a non-participatory society
(C) both (A) and (B) (D) Neither (A) nor (B)
35. The process of mass communication is not :
(A) personal (B) anonymous

(C) asymmetrical (D) effected on a large scale
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36.

37.

39.

40.

The Shannon and Weaver model of communication is :

(A) Circular (B) Modular

(C) Linear (D) Non-linear

The Asian model of communication is :

(A) Explicit (B) Direct

(C) Implicit and indirect (D)) Situational

When codes govern signs, and when assembled together, they become :
(A) Symbol (B) Contexts

(C) Paradiggs (D) Texts

Utilization of a personal space and physical environment for communication

is called :
(A) Chronemics (B) Proxemics
(C) Kinesics (D) Paralanguage

‘Mass Media and National Development’ is written by :
(A) Gulenberg (B) Deniel Lerner

(C) Wilbur Schramm (D) Val Geilgud
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41.

45.

Testing at the beginning of the creative process mostly includes :

(A) quantitative research (B) statistical methods

(C) qualitative research (D)

none of these

Largest number of English newspapers are published from :

(A) Delhi (B)

(C) Kolkata (D)

Radio and TV are the examples of :

(A) human communication (B)

(C) group communication (D)

Medium shot of the camera is upto the :

(A) knees of the subject (B)

(C) feet of the subject (D)

Mumbai

Chennai

mediated communication

interpersonal communication

waist of the subject

head to the knee

The Sangam age is considered to be a landmark in the history of :

(A) North India (B) West India

(C) South India (D)

T.B.C. : 23/15/ET-1I 22
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46. Which of the following are attributes of a caste ?

(1)
(2)
(3)
(4)

Exogamy
Ritual Status

Culture
Endogamy

Choose the correct answer from the codes given below :

Codes :

(A)
(C)

1, 2 and 4
2, 3 and 4

(B)
(D)

1, 3 and 4
1, 2 and 3

47.  Match List T with List II and select the correct answer from the codes given
below :

(a)
(6)
(c)
(d)

List I

Anuloma
Endogamy

Karta

Patriarchal family

Codes :

(a) () (e)
(A) (©) (@) (i)
(B) |, (z1) (@)
(C) (i) (v) (¢4
(D) (@) (if) (&)

TB.C. : 23/15/ET-11
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(d)
(iv)
(az)
(iv)
(v)

List I

Marriage outside the caste
Head of the family is female
Marriage inside the group
Male is the head of the family

Marriage of a upper caste man
with a lower caste woman
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48. The Headquarters of AFP is :
(A) New York (B) Berlin
(C) Lendon D) Paris
49. If a publication ig half the size of a broad sheet, it is called :
(A) Digest (B) Tabloid
(C) Double dummy (D) Single dummy
| 50. In frequency modulation :
(A) Frequency of carrier wave varies according to the amplitude of signal
v
(B) Frequency of carrier wave varies according to the frequency of signal

(C) Frequency of signal varies according to the frequency of carrier wave

(D) Frequency of signal varies according to the amplitude of carrier wave
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